SHERI157EZHE 5 typesin15 forms with the Air Blow

<

With Air Nozzle With Spray Nozzle and

With Spray Nozzle With Spray Nozzle and

Air Blow Gun . . ;
\ i B s i Straight Extended Pipe 45° Front Bent Extended Pipe
mRE TR s MEBEERELESE  WABERLARS STHE
BIEERY

" Operation video

& 5 runcii
JRIE

Air Blow Gun

EENEHEE L
Slidable Air Nozzle

o

PG6-30A BBB1E 5 K E K

BENEFEIEE
Slidable Spray Nozzle

1R E B

Tire Inflator

w

AG6-302A $7 SIS 5 K 15 1

Aluminum Body and Nozzles

ATG-402A $2 B 18 5 J% I W6

Aluminum Body and Nozzles

'S° R R E

WHY WAIT MACHINERY CO., LTD.

Why Wait

Jﬁ”‘% Air Blow Gun
\;ﬁ @{%Eﬁaﬁ Slidable Air Nozzle
BB IEFEIE WS Slidable Spray Nozzle

. EFT%%J% Tire Inflator

| ma - TR in ik

4-1in-1 Kit
me—T A=

SME*1/8 HT ) /
Back Bent with Male of M6* 1/8

ozzle

®-H /Straight Extended Pipe

i FE49-AINE 45 L / 45° Front Bent Extended Pipe
| MERE 14" (357mm ) MW (& M6*L/8 M) /
| Pipe fength 14" (357mm) Front Bent with Male of M6* 1/8
B S" (123mm ) #9® (& M6*1/8 B )/
h.5" (123mm) Back Bent with Male of M6* 1/8

N\ $8 8 Aluminum

ATG-402A

S
'HQ?E Speedy
|

Taiwan: M565257 - M506656
China: 201520323684.9
USA: US 9,827,576 B2
OHIM RCD: 002658484-0001
Germany: 202016104724.2
Japan: 3197968

Korea: 20-2015-0002171

/

’E"ﬁ'ag Energy-saving
AN /
i%{% Eco-friendly

/AN

SRHEREFEK261E10F5%5

No.5, Alley 10, Lane 261, Xincuo Rd.,

Waufeng Dist., Taichung City 413-54, Taiwan
www.whywait-tw.com
TEL:886-4-23330640

E-mail: whywait@ms57.hinet.net

LINE1D: 0906190290

= DIPLOWA

NTAR
m-ig;;-u

[
[=]

e

www.whywait-tw.com




=E=F] USA PATENT
US 9,827,576 B2

B ISR R T
Taiwan Invention Patent Granted

EANREEEEEE
Patent High Volume Air Nozzle

360 HEE S EEAERE

- Users easily use by rotating them360°.

awe

Air Blow Gun

BENIEFEEE
Slidable Spray Nozzle

- BHEETIEE

Uygerm
Tire Inflator

PEEnEgaE
Slidable Air Nozzle

- ZfEEE

- REMAREE

OMAX ©MIN - Rotate the tire gauge to
o EEFAEEH z : og ==l 3 sy REE just ai .
- AirVolume Rogulator - BAMEEE - HETRE - BECRETRARER - BB adjustairvolume
AIEITERMEE - Turbo air volume. - Sliding forward to spray.
ﬁ'— Parts can be disassembled. - Widen the range of blowing that iron fillings - Atomization liquids for cleaning or lubrication. AR

o Easy Maintenance

won’t rebound.

ps P5/ps .1 FEERRHRARABARANE * FR1E Description
14x2 4 Piston design solve leakage problem. B4R & £ Tire hose length:30cm(10™)
r-';r ! BEANBNEF  BHAZFEE ‘\\ @ 2B Measuring © BN R~ Gauge size:2”
/_,f Labor-saving trigger e ‘ " @ HF Deflating @ JE& 1 3 B Max. Pressure:0~200psi(0~15kg/cm”)
¢ WE : B S @ EF Inflating
CEIERA - %ﬁﬁﬂ%@O-R.ING. () Material:POM 4 - Dﬁ_ AR - RS T EHO-RING
: S::&r}:feductlon- Replace o-rings if leakage _PG6ZBN MBRE  GEATE F - Cost Reduction- Replace o-rings if leakage occurs.

(PFREE EEEETER)

S f - O-RINGR A &x/E E (mm)
Retaining ring design

-+ O-RING#E #&:A &x/E £ (mm) - Specification:internal diamater x width

- Specification:internal diamater x width

P5 4.8x1.9
—: ;‘gxig - RERTER  FAEE = P6_ MxlI Pe
LIS LI - Atsides, ex:walls. g — PR 14x2 14x2 Il
14x2 14x2 .Lﬁ) s S TRe N
- @ 2 - —— —-
- SAUELEE ] Test Pressure -.
280 psi (20kg/cm? N AN-06 - ATG-12
pst (20kglem’) RENEAR PNTEE TAS %T PTG !
. . _ 14x2
T Atangles, ex:workbenches,tool carts. "\d E EHEAREE:EEN tERAEREEE10MH
Air Chuck(length:6”) Air Chuck(length:10”)

BB R lastic Series luminum Series e iR E]| ini Size Aluminum Serié

PG6-B%7 X, MG6-F#7 MG6-B#7

O @ @O

5" 11" 14" 21" 25" 31"

PG6-12BNH

PG6-12FB

MR
Material:Plastic

BE1L:06(ZG8)mm
Pipe Diameter:@6(or @8)mm

®§E:123mm
Pipe Length:123mm

ITB- I (P 2)
Type:Back Bent (Front Bent)

® ERRBEE(EB/RER)
Air Nozzle (PN-06 or AN-06)

@/E.'\Eé%*%%
With plastic holder(PGH-06)

5" 11" 14" 21" 25" 3"

12FB 28F 35F S53F 63F 78F

PG6-FN#3! \ \ \

NG

s 11" 14" 21" 25" 31"

12FB 28FN 35FN 53FN 63FN 78FN

\ 5\\\ 25"\ 31"

12B 28B 35B 53B 63B 78B

Y
TEETY

12BN 28BN 35BN 53BN 63BN 78BN

PG6-28BNA PG6-35FN

AG6-12FB  AG6-12BNH

B SRR

Material: Aluminum
BE1L:06(3@8)mm

Pipe Diameter:@6(or @8)mm

®§§:285mm
Pipe Length:285mm

5" 11" 14" 21" 25" 31"
i

12FB 28F 35F 53F 63F 78F

0

AG6-FN#7

YA

\
; 5" '11" 14" 21" 25" 31”

12FB  28FN 35FN 53FN 63FN 78FN

OEUIB- AU (F- )
Type:Back Bent (Front Bent)

® ERUR B IENE (SRR
Air Nozzle (AN-06 or PN-06)

SERRR&IEFERE(SBR/BE)
® A: With plastic holder & Spray
Nozzle (AS-06 or PS-06)

AG6-12BNA

AN-06

AG6-BZ3
»m& " 3 "

12B 28B 35B 53B 63B 78B

AG6-BN#7|

. I R N
X 11" \14" \21" \25" \31"

12BN 28BN 35BN 53BN 63BN 78BN

AG6-28FN AG6-28BNA AG6-35FN

8x1

- HAEKA - KR A ELO-RING
- Cost Reduction- Replace o-rings
if leakage occurs.

- O-RINGHE #:A X2 & (mm)

P3 2.8x1.9
P6 5.8x1.9
OR8x1 14x2

9.8x1.9

-_MG6-12BN P10

MG6-12FB MG6-28FN

PTG-10

- Specification:internal diamater x width

12FB  28F 35F 53F 63F 78F

MG6-FN%7 . \ \
\
\

5" 11" 14" 21" 25" 31"

12FB  28FN 35FN 53FN 63FN 78FN

PTG-12

B

12B 28B 35B 53B 63B 78B

MG6-BN#7!

Viii)

12BN 28BN 35BN 53BN 63BN 78BN




